Efficiency vs Dxy(PV)

E 0.1
0.0
3
0.0
>
0.0
5]
'50.0
=
®0.0
0.0:
0.0
0.0:
o+ P *
=] W[
© I i
1 -H LU L
TR
Hftat e :
HfitAt e :
0.05111 N
=25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm
—=— DQM_V0001_R000000001__Global__CMSSW_orig
—— DQM_V0001_R000000001__Global__CMSSW_pl08
—— DQM_V0001_R000000001__Global__CMSSW_pl075
[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_pl07

|

.2 0.4 0.6 0.8
TP dxy(PV) (¢

()
3

[
$0.18
kel

20.16

a E
20.14
[

-é’O.lZ
3}

0.1
0.08|
0.06
0.04]
0.02

TTT

1.0

Ratio

0.95

Efficiency vs Dz(PV)

< 0.

.5

4
To
o
N
)
<
S
o
3



	Contents
	Page 1


